(€v47 UEEHmBIRHA]

20215 HEE=RZKIRRN0EE - SRE

EHBA 20214 A H

1. H&4%

2. K& BHES

3. KREAFM T

OMBERUVEHHO

[Eeg=skiamBEs] @

O—f% - K= 5000

O 3000H

OfE A 10004

O/hmhzE4E 3 )
[Z87H] b8 B BRE R HEER QD
O—#& 1700/ x 2= 300 x =
ONE-a0—F% 1700 x 2= 300/ x =
OXEHL 1300/ x 2= 300 x =
oER4E 1100 x &= 200 x =
O/hehEH 800 x &= 1004 x =
A% ( ) A M

*EiE, BEANRAA (FHEHEEF-—LEELQYFY)

OZF DO (FEH)

HEBREBETFLRT (Y E1—S ANERRICKET 59 zl6)
(D+2+3)
5 &

OBEFILEREHNLBET H-OIC, LT OREMEFRHL TLZELY,
OEMBHY HEHEEIL. HEESKBIEBRABENA—LESLESL, €y 7V EEBELFT,



